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1
bl H2%% | NS | EW | 6%=22% | NS | EW | #1 | #5 | #1 ]| #5| #1 | #5 || Mean | Ns EW
1 N [None 4HW5 450 4HW5 450 EW400 -2 2
2 E | NS 4HNS5 650 6HN-2 200 850 13 NS220 10 9
3 S | EW 4HS4 420 4HS5 450 30 1 NS450 -1
4 | W (Both 4SXS-1 200 4SS-1 100 100 3 NS340 -1 10
5 N | NS 4HES 450 4HE6 480 30 1 EW460 1
6 E | EW 4HW4 620 4SE4 620 EW480 -4 4
7 S |[Both 4CN5 150 4DS6 170 20 1 NS190 -1 1
8 W |None 1NS4 180 2NN4 180 NS170
9 N | EW 3NXW-1 200 3NW-1 100 100 3 NS50 4 -2
10 | E |Both 1NN1 90 3HW-1 100 10 NS150 -2 2
11 | S |None 2HS-1 50 2NW-1 50 100 3 EW50 -3
12| W | NS 1NN4 180 1NN3 150 30 1 NS160 1
13 | N |Both 3CwW4 130 3DE4 130 EW200 2 -2
14 | E |None 6DW-2 100 3NE3 400 500 11 EW150 6 6
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
i t¥z2% | NS | EW | 243223 | NS | EW | #4 | #6 |#4 ] #6 | #4 | #6 || Mean | Ns EW
1 N |None 4HW5 450 4HW5 450 EW400 -2 2
2 E NS 6HN-2 200 4HN5 650 850 13 NS220 -9 -10
3 S | EW 4HS5 450 4HS6 480 30 1 NS450 -1
4 W |Both 4SS4 620 4SS4 620 NS340 7 -7
5 N NS 4HE5 450 4HEG6 480 30 1 EW460 1
6 E | EW 4SE4 620 3NE-2 200 820 13 EW480 -4 -12
7 S |Both 4HS-1 100 4DS5 150 250 6 NS190 -7 1
8 W |None| 1NN4 180 1SN3 140 40 1 NS170 1
9 N | EW 4CE-1 100 3CE3 110 210 5 NS50 2 4
10 E |Both 3CN3 110 2HW-1 100 10 NS150 -1 2
11 S |None 3HS-1 50 2NW2 120 70 2 EW50 2
12 | W | NS 1NS3 150 1NN3 150 NS160
13 | N |Both 3NE3 600 3Cw4 130 470 10 EW200 -9 -2
14 | E |None 4SXW-1 100 5DW-2 100 EW150 6 -6
@3+ IMP| 9 |43 A7 | 25
2 LA
B 4 Catchall 6 Vi
* B IMP 9 43
&3+ 1P 9 43 a
B 3VP 2.37 17.63




9] BEg<zrmpEappie |9 |« o -
o
NS m¥= wzrM(R0) 2 T bl 3 3 NS # %% &Ea7(F0)
EW 2 e »(PC) apile EW ##&% map(R0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #2 | #3 | #2 | #3 |#2|#3 || Mean | Ns | EW
1| N |None] 4HWS5 450 3HW5 200 250 6 EW400 | -2 5
2| E|Ns 6HN-2 200 3NN5 660 860 13 NS220 | -9 10
3|s|Ew 4HN5 450 4HS5 450 NS450
4 | W |Both| 4ss5 650 5HXE-2 | 500 150 4 NS340 | 7 -4
5| N| NS 4HE5 450 4HE5 450 EWA460
6 | E|EW 4SE4 620 4SE4 620 EW480 | -4 4
7 | s |Both| 5Ds5 600 4DS6 170 430 10 NS190 | 9 1
8 | W [None|] 1Ns4 180 1NS4 180 NS170
9| N|EW 3CE3 110 2SN3 140 250 6 NS50 | -4 -3
10 | E |Both| 3HW-4 | 400 2CN4 130 270 7 NS150 | 6 1
11| S |None|  2HS-1 50 2HXS-1 100 | 50 2 EWS50 2
12| W | NS 1NN4 180 1NN4 180 NS160 | 1 A
13| N |Both| 1NW2 120 3CW3 110 10 EW200 | 2 -3
14 | E |None|]  3NE3 400 3NE4 430 | 30 1 EW150 | -6 7
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
bl Hr2% | NS | EW | £x25% | NS | EW | #5 | #1 | #5| #1 | #5 | #1 Mean | NS EW
1 N |None| 4HW5 450 4HW5 450 EW400 -2 2
2 E NS 6HN-2 200 4HN5 650 850 13 NS220 -9 -10
3 S | EW 4HS5 450 4HS4 420 30 1 NS450 1
4 W | Both 4SS-1 100 4SXS-1 200 100 3 NS340 -10 11
5 N NS 4HEG6 480 4HES5 450 30 1 EW460 -1
6 E EW 4SE4 620 4HW4 620 EW480 -4 4
7 S [Both 4DS6 170 4CN5 150 20 1 NS190 -1 1
8 W |None 2NN4 180 1NS4 180 NS170
9 N | EW 3NW-1 100 3NXW-1 200 100 3 NS50 2 -4
10 E |Both 3HW-1 100 1NN1 90 10 NS150 -2 2
11 S [None 2NW-1 50 2HS-1 50 100 3 EW50 3
12| W | NS 1NN3 150 1NN4 180 30 1 NS160 -1
13 | N [Both 3DE4 130 3CW4 130 EW200 2 -2
14 E |None 3NE3 400 6DW-2 100 500 11 EW150 -6 -6
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
i txzex | NS | EW | 25223 | NS | EW | #6 | #4 | #6 | #4 |#e | #a Mean NS EW
1 N |None 4HW5 450 4HW5 450 EW400 -2 2
2 E NS 4HN5 650 6HN-2 200 850 13 NS220 10 9
3 S | EW 4HS6 480 4HS5 450 30 1 NS450 1
4 W |Both 4SS4 620 4SS4 620 NS340 7 -7
5 N NS 4HEG6 480 4HE5 450 30 1 EW460 -1
6 E | EW 3NE-2 200 4SE4 620 820 13 EW480 12 4
7 S |Both 4DS5 150 4HS-1 100 250 6 NS190 -1 7
8 W |None| 1SN3 140 1NN4 180 40 1 NS170 -1
9 N | EW 3CE3 110 4CE-1 100 210 5 NS50 -4 -2
10 E |Both 2HW-1 100 3CN3 110 10 NS150 -2 1
11 S |None 2NW2 120 3HS-1 50 70 2 EW50 -2
12 | W | NS 1NN3 150 1NS3 150 NS160
13 | N |Both 3Cw4 130 3NE3 600 470 10 EW200 2 9
14 | E |None 5DW-2 100 4SXW-1 100 EW150 6 -6
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B# | DL | £ % MEZ 2RE ES A%EREA COP Datum
1
Kl z9zmx | NS [ EW | 25z2% | NS | EW | #3 | #2 | #3 | #2|#3 |#2 || Mean | Ns | EW
1| N |None] 3HWS5 200 4HW5 450 | 250 6 EW400 | 5 2
2 | E|Ns 3NN5 660 6HN-2 200 | 860 13 NS220 | 10 9
3|s|Ew 4HS5 450 4HN5 450 NS450
4 | W [Both| 5HXE-2 | 500 4SS5 650 150 4 NS340 | 4 7
5| N| NS 4HE5 450 4HE5 450 EW460
6 | E|EW 4SE4 620 4SE4 620 EW480 | -4 4
7 | s |Both| 4Dse 170 5DS5 600 430 10 NS190 | -1 -9
8 | W [None| 1Ns4 180 1NS4 180 NS170
9| N|EW 2SN3 140 3CE3 110 | 250 6 NS50 | 3 4
10| E |Both| 2CN4 130 3HW-4 | 400 270 7 NS150 | -1 -6
11| S |None| 2HXs-1 100 2HS-1 50 50 2 EW50 | -2
12| W | NS 1NN4 180 1NN4 180 NS160 | 1 A
13| N |Both| 3cws 110 1INW2 120 | 10 EW200 | 3 -2
14 | E |None] 3NE4 430 3NE3 400 30 1 EW150 | -7 6
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